X AN 33z 4 —_—
10 113 EE 2RBpEHEHLE ==> RI0 10
U v L JoAe
#1. 3 EIFR(119.25) #2: 2 JR{%(108.21) #3: 6 155(105.76)
1 NS: E=6HE HeFefE(GHO) -37 2 NS: R15g8 EiA(BAC) 2 VP:| 2.96 17.04| Total VP: 98.76 Rank:
EW: $8{—5k Mh&eREAC) -2 EW: R2iE5 BEE(BAO) 37 IMP:| 12 42 4
E—
# 15 » KT8 3HW3 -140 Mean: 3NN3 600 120 1 ||# 16 » 982 5DXS-3 -500 Mean: 4SE-1 100 110 1
v A2 2HW3 140 -20  4HXW-1 100 3.0 1 v KT98 5DXS-3 -500 -460  5DXS-3 500 1.0 2
« A752 Dif: 0 NS:-3 3HW3 140 30 2 * 96 Dif: 0 NS:-1 4SE4 620 -40 3
& QJ63 IMP: 0 EW:3 2HW3 140 30 1 » 7432 IMP: 0 EW:1
» AQJ64 a3 4HW4 420 90 1 ||as AJT4 » 7653
v Q9654 | v JT873 v Q62 — v J5
o JT + KQ93 K2 ¢ A73
T » 742 & AKQ6 & JT98
o VBN 49752 o ¢VABN 4, KQ
N 32~23 ¢K N ~22~~ o A743
S 32~23 +864 S ~22~~ ¢ QJT854
E ~~ 3~ ~ &AK95 E 4~~43 &5
W ~~3~~ W 4~~43
# 17 » KQ842 4HW4 -420 Mean: 5HW-2 100 80 1 ||#18 s K5 4SXE-2 300 Mean: 4SXE-2 300 6.0 1
v9 3HW5 -200 -220  5HW-1 50 70 1 v AQJ972 5HN-1-100 70 4SE-2 100 1.0 1
¢ 96 Dif: -220 NS:-5 3HW5 200 1.0 1 * K2 Dif: 400 NS:6 4SE-1 50 1.0 1
& AKQ93 IMP: -6 EW:-1 4HW4 420 -50 1 & KQ2 IMP: 9 EW:5 3SE-1 50 1.0 2
& 9765 a AJ 4HW5 450 -60 1 ||a T873 ~ AQJ96 5HN-1 100 -5.0 1
v Q842 v AJ653 4HE5 450 60 1 ||w 85 | v KT
¢ A7 + KQJ85 ¢ J76 ¢ Q3
& 852 a7 » 9654 a AJT7
P®PIVAN ,T3 o eVAN 442
N 3~~1~ oKT7 N ~34~1 ¢ 643
S 3~~1~ ¢T432 S ~23~~ ¢ AT9854
E ~34~1 &JT64 E 3~~2~ 483
W ~34~1 W 3 ~~2~
#19 4 864 6SE6 -1430 Mean: 7SW-2 200 140 1 ||# 20 & 8542 5DXE5 -750 Mean: 6CXE-1 200 11.0 1
w75 6SE6 -1430 -710  5HS-2 100 120 1 v J8765 5SXS-2 -500 -390 5HS-2 200 50 1
* QJT743 Dif: 0 NS:-12 4HS-2 100 120 1 ¢ 93 Dif: -250 NS:-8 5SXS-2 500 -3.0 1
»T4 IMP: 0 EW:12 6SW6 1430 -12.0 1 » T7 IMP: -6 EW:3 5HXS-2 500 -3.0 1
s AJ93 & KT752 6SE6 -1430 120 2 ||a J73 s K 5DE5 600 -5.0 1
v v AJ oT _I_ v A2 5DXE5 750 -8.0 1
¢ K9862 * A5 + Q876 * AJT52
& A975 » KJ86 & AJ932 » KQ854
*¢VABN 4,Q %o VABN 4 AQT96
N ~ ~ 2 ~ ~ ¢ KQT986432 N ~~ 33~ v KQ943
S ~~2~~ o S ~~33~ ¢K4
E 74~76 Q32 E 55~~1 &6
W 64~66 W 55 ~~1
# 21 » Q5 1NN1 90 Mean: 1NN3 150 4.0 1 ||# 22 » KQ52 3NN4 430 Mean: 3NS5 460 1.0 1
v AKJ4 1NN2120 o0 1NN2 120 3.0 1 v Q32 3NN4 430 440  3NN5 460 1.0 1
¢ 542 Dif: -30 NS:3  1NN1 90 30 2 + AB2 Dif: 0 NS:0 3NN4 430 0.0 4
& T532 IMP: -1 EW:-3 1NS-1 4100 -30 1 & KT7 IMP: 0 EW:0
& T742 » K86 2NN-3 -300 -7.0 1 aJ & AT9843
v T3 v Q9876 v 96 — v KT7
¢ AKT3 ¢ 76 ¢+ QJ5 ¢ 743
& QJ4 » K76 » J986432 a5
VAN o,AJ3 oo VAN ,76
N 11~~~ 52 N ~44~4 ¢ AJB54
S 11~~1 ¢QJ98 S ~44~4 ¢ KT9%
E ~~11~ &A% E ~~~~~ & AQ
W ~~11~ W ~ ~~~~
# 23 s QT764 3NN5 660 Mean: 3NN5 660 1.0 1 ||# 24 » K96 2NE-1 50 Mean: 2SS3 140 20 1
v J8 3NS4 630 620 3NS4 630 00 3 v AQ85 2NE-2100 80  3HE-2 100 1.0 1
¢ T98 Dif: 30 NS:1  5CS5 600 -1.0 1 *2 Dif: -50 NS:-1 2NE-2 100 1.0 1
» T32 IMP: 1 EW:0 5CN5 600 1.0 1 » 86543 IMP: -2 EW:-1 2NE-1 50 1.0 1
52 & AKJ93 # 854 » QT3 2HW-1 50 1.0 1
v KQT5 + v 7643 v T9642 v K3 2HE1 50 1.0 1
+ J6543 * KQ72 * K5 ¢ AT843
» 87 S »~ ~ J92 » AKQ
F¢VABN 8 oo VABN 4 AJT2
N 5~~~ 4 ¢ A92 N 1~~21 9J7
S 5~~~4 ¢A S 1~~21 ¢ QJI76
E ~45 3~ &AKQJ9654 E ~~1~~ &T7
W ~453~ W ~~1~~
# 25 » AQ2 3NS4 430 Mean: 3NS4 430 50 2 ||# 26 » A84 4HS-1-100 Mean: 4HS4 620 8.0 1
v J52 3NS3 400 260 3NS3 400 40 2 v KQ64 4HS4 620 300  4HN5 650 8.0 1
¢ 9832 Dif: 30 NS:5 3NN-1 50 7.0 2 *5 Dif: -720 NS:-9 4HN4 620 8.0 1
& A95 IMP: 1 EW:-4 & KQJ53 IMP: -12 EW:-8 2SS2 110 50 1
& K75 & JT63 » QJ92 » K3 4HS1 100 9.0 2
v KT97 v 43 v J83 + v T9
¢ KJTS — ¢ 74 ¢ J862 + KQ43
& 72 » JT863 a A9 » T8764
oo VABN 4,94 oo VAN 4, T765
N ~33~3 vAQ86 N ~~423 ¢ A752
S ~33~4 ¢+AQ6 S ~~423 ¢AT97
E ~~~~~ + KQ4 E ~1~~~ a2
W ~~~~~ W ~1~~~
# 27 4 KQ973 3CN6 170 Mean: 4SN4 420 40 1 # 28 aT7 2SS5200 Mean: 6CS6 1370 120 1
v T532 3CS5150 270  3NS3 400 40 2 w7 6CS6 1370 680 4SS5 650 1.0 2
* 98 Dif: 20 NS:-3 3CS5 150 3.0 1 + Q8432 Dif: 1170 NS:-10 5CS5 600 2.0 1
» 85 IMP: 1 EW:3 3CN6 170 3.0 1 & AKT98 IMP: -15 EW:-12 4SS4 620 2.0 1
s T82  J64 3CS4 130 40 1 ||as 983 & Q52 28S5 200 100 1
v AQ96 v J874 v KJ8 I v QT9653
¢ 543 + KQ76 ¢ KJT65 * A7
& QJ9 » T4 » 63 » 52
VBN A5 %+ VAN 4, AKJ6S
N 4~~32 ¢K N 6~~65 v Ad42
S 4~~32 ¢AJT2 S 6~~6 *9
E ~~~~~ & AK7632 E ~~~~~ » QJ74
%




X AN 33z 4 —_—
10 113 EE 2RBpEHEHLE ==> RI0 10
U v L JoAe
#1. 3 EIFR(119.25) #2: 2 JR{%(108.21) #3: 6 155(105.76)
2 NS: SA5a8 BRHEUEAC) 2 1 NS: E3X48 Kl (BO) -37 VP:| 17.04 : 2.96 Total VP: 108.21 Rank:
EW: BiE7 FRE5EE0) 37 EW: $E{_# MER(BAC) -2 IMP:| 42 12 2
E—
# 15 » KT8 3HW3 140 Mean: 3NN3 600 120 1 ||# 16 » 982 5DXS-3 500 Mean: 4SE-1 100 110 1
v A2 2HW3 140 -20  4HXW-1 100 3.0 1 v KT98 5DXS-3 500 -460 5DXS-3 500 1.0 2
« A752 Dif: 0 NS:-3 3HW3 140 30 2 * 96 Dif: 0 NS:-1 4SE4 620 -40 3
& QJ63 IMP: 0 EW:3 2HW3 140 30 1 » 7432 IMP: 0 EW:1
» AQJ64 a3 4HW4 420 90 1 ||as AJT4 » 7653
v Q9654 | v JT873 v Q62 — v J5
o JT + KQ93 K2 ¢ A73
T » 742 & AKQ6 & JT98
o VBN 49752 o ¢VABN 4, KQ
N 32~23 ¢K N ~22~~ o A743
S 32~23 +864 S ~22~~ ¢ QJT854
E ~~ 3~ ~ &AK95 E 4~~43 &5
W ~~3~~ W 4~~43
# 17 » KQ842 4HW4 420 Mean: 5HW-2 100 80 1 ||#18 s K5 4SXE-2 -300 Mean: 4SXE-2 300 6.0 1
v9 3HW5 200 -220 5HW-1 50 70 1 v AQJ972 5HN-1100 70 4SE-2 100 1.0 1
¢ 96 Dif: 220 NS:1  3HW5 200 1.0 1 * K2 Dif: -400 NS:-5 4SE-1 50 1.0 1
& AKQ93 IMP: 6 EW:5 4HW4 420 -50 1 & KQ2 IMP: -9 EW:-6 3SE-1 50 1.0 2
& 9765 a AJ 4HW5 450 -60 1 ||a T873 ~ AQJ96 5HN-1 100 -5.0 1
v Q842 v AJ653 4HE5 450 60 1 ||w 85 | v KT
¢ A7 + KQJ85 ¢ J76 ¢ Q3
& 852 a7 » 9654 a AJT7
P®PIVAN ,T3 o eVAN 442
N 3~~1~ oKT7 N ~34~1 ¢ 643
S 3~~1~ ¢T432 S ~23~~ ¢ AT9854
E ~34~1 &JT64 E 3~~2~ 483
W ~34~1 W 3 ~~2~
#19 4 864 6SE6 1430 Mean: 7SW-2 200 140 1 ||# 20 & 8542 5DXE5 750 Mean: 6CXE-1 200 11.0 1
w75 6SE6 1430 -710  5HS-2 100 120 1 v J8765 5SXS-2 500 -390 5HS-2 200 50 1
* QJT743 Dif: 0 NS:-12 4HS-2 100 120 1 ¢ 93 Dif: 250 NS:-3 5SXS-2 500 -3.0 1
»T4 IMP: 0 EW:12 6SW6 1430 -12.0 1 » T7 IMP: 6 EW:8 5HXS-2 500 -3.0 1
s AJ93 & KT752 6SE6 -1430 120 2 ||a J73 s K 5DE5 600 -5.0 1
v v AJ oT _I_ v A2 5DXE5 750 -8.0 1
¢ K9862 * A5 + Q876 * AJT52
& A975 » KJ86 & AJ932 » KQ854
*¢VABN 4,Q %o VABN 4 AQT96
N ~ ~ 2 ~ ~ ¢ KQT986432 N ~~ 33~ v KQ943
S ~~2~~ o S ~~33~ ¢K4
E 74~76 Q32 E 55~~1 &6
W 64~66 W 55 ~~1
# 21 » Q5 1NN1 -90 Mean: 1NN3 150 4.0 1 ||# 22 » KQ52 3NN4 -430 Mean: 3NS5 460 1.0 1
v AKJ4 1NN2-120 © 1NN2 120 3.0 1 v Q32 3NN4 -430 440  3NN5 460 1.0 1
¢ 542 Dif: 30 NS:3  1NN1 90 30 2 + AB2 Dif: 0 NS:0 3NN4 430 0.0 4
& T532 IMP: 1 EW:-3 1NS-1 4100 -30 1 & KT7 IMP: 0 EW:0
& T742 » K86 2NN-3 -300 -7.0 1 aJ & AT9843
v T3 v Q9876 v 96 — v KT7
¢ AKT3 ¢ 76 ¢+ QJ5 ¢ 743
& QJ4 » K76 » J986432 a5
VAN o,AJ3 oo VAN ,76
N 11~~~ 52 N ~44~4 ¢ AJB54
S 11~~1 ¢QJ98 S ~44~4 ¢ KT9%
E ~~11~ &A% E ~~~~~ & AQ
W ~~11~ W ~ ~~~~
# 23 s QT764 3NN5 -660 Mean: 3NN5 660 1.0 1 ||# 24 » K96 2NE-1 -50 Mean: 2SS3 140 20 1
v J8 3NS4 -630 620 3NS4 630 00 3 v AQ85 2NE-2-100 80  3HE-2 100 1.0 1
¢ T98 Dif: -30 NS:0 5CS5 600 -1.0 1 *2 Dif: 50 NS:1 2NE-2 100 1.0 1
» T32 IMP: -1 EW:-1 5CN5 600 1.0 1 » 86543 IMP: 2 EW:1 2NE-1 50 1.0 1
52 & AKJ93 # 854 » QT3 2HW-1 50 1.0 1
v KQT5 + v 7643 v T9642 v K3 2HE1 50 1.0 1
+ J6543 * KQ72 * K5 ¢ AT843
» 87 S »~ ~ J92 » AKQ
F¢VABN 8 oo VABN 4 AJT2
N 5~~~ 4 ¢ A92 N 1~~21 9J7
S 5~~~4 ¢A S 1~~21 ¢ QJI76
E ~45 3~ &AKQJ9654 E ~~1~~ &T7
W ~453~ W ~~1~~
# 25 » AQ2 3NS4 -430 Mean: 3NS4 430 50 2 ||# 26 » A84 4HS-1100 Mean: 4HS4 620 8.0 1
v J52 3NS3 -400 260 3NS3 400 40 2 v KQ64 4HS4 -620 300  4HN5 650 8.0 1
¢ 9832 Dif: -30 NS:4  3NN-1 50 7.0 2 *5 Dif: 720 NS:8 4HN4 620 8.0 1
& A95 IMP: -1 EW:-5 & KQJ53 IMP: 12 EW:9 2SS2 110 50 1
& K75 & JT63 » QJ92 » K3 4HS1 100 9.0 2
v KT97 v 43 v J83 + v T9
¢ KJTS — ¢ 74 ¢ J862 + KQ43
& 72 » JT863 a A9 » T8764
oo VABN 4,94 oo VAN 4, T765
N ~33~3 vAQ86 N ~~423 ¢ A752
S ~33~4 ¢+AQ6 S ~~423 ¢AT97
E ~~~~~ + KQ4 E ~1~~~ a2
W ~~~~~ W ~1~~~
# 27 4 KQ973 3CN6 -170 Mean: 4SN4 420 40 1 # 28 aT7 2SS5 -200 Mean: 6CS6 1370 120 1
v T532 3CS5-150 270  3NS3 400 40 2 w7 6CS6 -1370 680 4SS5 650 1.0 2
* 98 Dif: -20 NS:-3 3CS5 150 3.0 1 + Q8432 Dif: 1170 NS:12 5CS5 600 2.0 1
» 85 IMP: -1 EW:3 3CN6 170 3.0 1 & AKT98 IMP: 15 EW:10 4SS4 620 2.0 1
s T82  J64 3CS4 130 40 1 ||as 983 & Q52 28S5 200 100 1
v AQ96 v J874 v KJ8 I v QT9653
¢ 543 + KQ76 ¢ KJT65 * A7
& QJ9 » T4 » 63 » 52
VBN A5 %+ VAN 4, AKJ6S
N 4~~32 ¢K N 6~~65 v Ad42
S 4~~32 ¢AJT2 S 6~~6 9
E ~~~~~ & AK7632 E ~~~~~ » QJ74
%




X AN 33z 4 —_—
10 113 EE 2RBpEHEHLE ==> RI0 10
U v L JoAe
#1. 3 EIFR(119.25) #2: 2 JR{%(108.21) #3: 6 155(105.76)
3 NS: BIGE FREET(BEHO) 6 4 NS: R#EHE BHERR(EBAC) 7 | VP:| 11.28 : 8.72 Total VP: 119.25 Rank:
EW: iR BEEHEEAC) -7 EW: [RES) GRHE£(BAO) -6| IMP:| 25 21 1
E—
# 15 s KT8 3HW3 -140 Mean: 3NN3 600 120 1 [[# 16 » 982 4SE4 -620 Mean: 4SE-1 100 110 1
v A2 4HW4 -420 -20  4HXW-1 100 3.0 1 v KT98 4SE4 -620 -460  5DXS-3 500 1.0 2
» A752 Dif: 280 NS:-3 3HW3 140 30 2 + 96 Dif: 0 NS:-4 4SE4 620 -40 3
& QJ63 IMP: 7 EW:9 2HW3 140 30 1 » 7432 IMP: 0 EW:4
» AQJ64 a3 4HW4 420 90 1 ||as AJT4 » 7653
v Q9654 | v JT873 v Q62 — v J5
o JT + KQ93 K2 ¢ A73
T » 742 & AKQ6 & JT98
o VBN 49752 o ¢VABN 4, KQ
N 32~23 ¢K N ~22~~ o A743
S 32~23 +864 S ~22~~ ¢ QJT854
E ~~ 3~ ~ &AK95 E 4~~43 &5
W ~~3~~ W 4~~43
# 17 » KQ842 4HWS5 -450 Mean: 5HW-2 100 80 1 ||#18 s K5 3SE-1 50 Mean: 4SXE-2 300 6.0 1
v9 4HE5 -450 -220  5HW-1 50 70 1 v AQJ972 3SE-150 70 4SE-2 100 1.0 1
¢ 96 Dif: 0 NS:-6 3HW5 200 1.0 1 * K2 Dif: 0 NS:-1 4SE-1 50 1.0 1
& AKQ93 IMP: 0 EW:6 4HW4 420 -50 1 & KQ2 IMP: 0 EW:1 3SE-1 50 1.0 2
& 9765 a AJ 4HW5 450 -60 1 ||a T873 ~ AQJ96 5HN-1 100 -5.0 1
v Q842 v AJ653 4HE5 450 60 1 ||w 85 | v KT
¢ A7 + KQJ85 ¢ J76 ¢ Q3
& 852 a7 » 9654 a AJT7
P®PIVAN ,T3 o eVAN 442
N 3~~1~ oKT7 N ~34~1 ¢ 643
S 3~~1~ ¢T432 S ~23~~ ¢ AT9854
E ~34~1 &JT64 E 3~~2~ 483
W ~34~1 W 3 ~~2~
#19 4 864 7SW-2 200 Mean: 7SW-2 200 140 1 ||# 20 & 8542 5DE5 -600 Mean: 6CXE-1 200 11.0 1
w75 4HS-2 -100 -710  5HS-2 100 120 1 v J8765 5HS-2 -200 -390  5HS-2 200 50 1
* QJT743 Dif: 300 NS:14 4HS-2 100 120 1 ¢ 93 Dif: -400 NS:-5 5SXS-2 500 -3.0 1
»T4 IMP: 7 EW:-12 6SW6 1430 -12.0 1 » T7 IMP: -9 EW:-5 5HXS-2 500 -3.0 1
s AJ93 & KT752 6SE6 -1430 120 2 ||a J73 s K 5DE5 600 -5.0 1
v v AJ oT _I_ v A2 5DXE5 750 -8.0 1
¢ K9862 * A5 + Q876 * AJT52
& A975 » KJ86 & AJ932 » KQ854
*¢VABN 4,Q %o VABN 4 AQT96
N ~ ~ 2 ~ ~ ¢ KQT986432 N ~~ 33~ v KQ943
S ~~2~~ o S ~~33~ ¢K4
E 74~76 Q32 E 55~~1 &6
W 64~66 W 55 ~~1
# 21 » Q5 1NS-1-100 Mean: 1NN3 150 4.0 1 ||# 22 » KQ52 3NS5 460 Mean: 3NS5 460 1.0 1
v AKJ4 1NN3150 © 1NN2 120 3.0 1 v Q32 3NN5 460 440  3NN5 460 1.0 1
¢ 542 Dif: -250 NS:-3 1NN1 90 30 2 + AB2 Dif: 0 NS:1 3NN4 430 0.0 4
& T532 IMP: -6 EW:-4 1NS-1 4100 -30 1 & KT7 IMP: 0 EW:-1
& T742 » K86 2NN-3 -300 -7.0 1 aJ & AT9843
v T3 v Q9876 v 96 — v KT7
¢ AKT3 ¢ 76 ¢+ QJ5 ¢ 743
& QJ4 » K76 » J986432 a5
VAN o,AJ3 oo VAN ,76
N 11~~~ 52 N ~44~4 ¢ AJB54
S 11~~1 ¢QJ98 S ~44~4 ¢ KT9%
E ~~11~ &A% E ~~~~~ & AQ
W ~~11~ W ~ ~~~~
# 23 s QT764 3NS4 630 Mean: 3NN5 660 1.0 1 ||# 24 » K96 2HE-1 50 Mean: 2SS3 140 20 1
v J8 5CS5600 620 3NS4 630 00 3 v AQ85 2SS3 140 80  3HE-2 100 1.0 1
¢ T98 Dif: 30 NS:0 5CS5 600 -1.0 1 *2 Dif: -90 NS:-1 2NE-2 100 1.0 1
» T32 IMP: 1 EW:1 5CN5 600 1.0 1 » 86543 IMP: -3 EW:-2 2NE-1 50 1.0 1
52 & AKJ93 # 854 » QT3 2HW-1 50 1.0 1
v KQT5 + v 7643 v T9642 v K3 2HE1 50 1.0 1
+ J6543 * KQ72 * K5 ¢ AT843
» 87 S »~ ~ J92 » AKQ
F¢VABN 8 oo VABN 4 AJT2
N 5~~~4 9A9%2 N 1~~21 9J7
S 5~~~4 ¢A S 1~~21 ¢ QJI76
E ~45 3~ &AKQJ9654 E ~~1~~ &T7
W ~453~ W ~~1~~
# 25 » AQ2 3NS3 400 Mean: 3NS4 430 50 2 ||# 26 » A84 4HN4 620 Mean: 4HS4 620 8.0 1
v J52 3NN-1-50 260 3NS3 400 40 2 v KQ64 4HN5 650 300  4HN5 650 8.0 1
¢ 9832 Dif: 450 NS:4 3NN-1 50 7.0 2 *5 Dif: -30 NS:8 4HN4 620 8.0 1
& A95 IMP: 10 EW:7 & KQJ53 IMP: -1 EW:-8 2S8S2 110 50 1
& K75 & JT63 » QJ92 » K3 4HS1 100 9.0 2
v KT97 v 43 v J83 + v T9
¢ KJTS — ¢ 74 ¢ J862 + KQ43
& 72 » JT863 a A9 » T8764
oo VABN 4,94 * ¢ VBN o T765
N ~33~3 vAQ86 N ~~423 ¢ A752
S ~33~4 ¢+AQ6 S ~~423 ¢AT97
E ~~~~~ & KQ4 E~1~~~ a2
W ~~~~~ W ~1~~~
# 27 4 KQ973 3NS3 400 Mean: 4SN4 420 40 1 # 28 aT7 5CS5 600 Mean: 6CS6 1370 120 1
v T532 3NS3400 270 3NS3 400 40 2 w7 4SS5650 680 4SS5 650 1.0 2
* 98 Dif: 0 NS:4 3CS5 150 3.0 1 + Q8432 Dif: -50 NS:-2 5CS5 600 2.0 1
» 85 IMP: 0 EW:-4 3CN6 170 3.0 1 & AKT98 IMP: -2 EW:1 4Ss4 620 2.0 1
s T82  J64 3CS4 130 40 1 ||as 983 & Q52 28S5 200 100 1
v AQ96 v J874 v KJ8 I v QT9653
¢ 543 + KQ76 ¢ KJT65 * A7
& QJ9 » T4 » 63 » 52
VBN A5 %+ VAN 4, AKJ6S
N 4~~32 ¢K N 6~~65 v Ad42
S 4~~32 ¢AJT2 S 6~~65 ¢9
E ~~~~~ & AK7632 E ~~~~~ » QJ74
%




X AN 33z 4 —_—
10 113 EE 2RBpEHEHLE ==> RI0 10
U v L JoAe
#1. 3 EIFR(119.25) #2: 2 JR{%(108.21) #3: 6 155(105.76)
4 NS: S35 s REAC) 7 3 NS: 15iX5E BReLF(FI0) 6 VP:| 8.72 11.28 | Total VP: 90.78 Rank:
EW: BEEESE) BRHEEEF0) -6 EW: #tixiE BREBR(BAC) -7 IMP:| 21 25 5
E—
# 15 s KT8 3HW3 140 Mean: 3NN3 600 120 1 [[# 16 » 982 4SE4 620 Mean: 4SE-1 100 110 1
v A2 4HW4 420 -20  4HXW-1 100 3.0 1 v KT98 4SE4 620 -460 5DXS-3 500 1.0 2
» A752 Dif: -280 NS:-9 3HW3 140 30 2 + 96 Dif: 0 NS:-4 4SE4 620 -40 3
& QJ63 IMP: -7 EW:3 2HW3 140 30 1 » 7432 IMP: 0 EW:4
» AQJ64 a3 4HW4 420 90 1 ||as AJT4 » 7653
v Q9654 | v JT873 v Q62 — v J5
o JT + KQ93 K2 ¢ A73
T » 742 & AKQ6 & JT98
o VBN 49752 o ¢VABN 4, KQ
N 32~23 ¢K N ~22~~ o A743
S 32~23 +864 S ~22~~ ¢ QJT854
E ~~ 3~ ~ &AK95 E 4~~43 &5
W ~~3~~ W 4~~43
# 17 » KQ842 4HWS5 450 Mean: 5HW-2 100 80 1 ||#18 s K5 3SE-1-50 Mean: 4SXE-2 300 6.0 1
v9 4HE5 450 -220  5HW-1 50 70 1 v AQJ972 3SE-1-50 70 4SE-2 100 1.0 1
¢ 96 Dif: 0 NS:-6 3HW5 200 1.0 1 * K2 Dif: 0 NS:-1 4SE-1 50 1.0 1
& AKQ93 IMP: 0 EW:6 4HW4 420 -50 1 & KQ2 IMP: 0 EW:1 3SE-1 50 1.0 2
& 9765 a AJ 4HW5 450 -60 1 ||a T873 ~ AQJ96 5HN-1 100 -5.0 1
v Q842 v AJ653 4HE5 450 60 1 ||w 85 | v KT
¢ A7 + KQJ85 ¢ J76 ¢ Q3
& 852 a7 » 9654 a AJT7
P®PIVAN ,T3 o eVAN 442
N 3~~1~ oKT7 N ~34~1 ¢ 643
S 3~~1~ ¢T432 S ~23~~ ¢ AT9854
E ~34~1 &JT64 E 3~~2~ 483
W ~34~1 W 3 ~~2~
#19 4 864 7SW-2 -200 Mean: 7SW-2 200 140 1 ||# 20 & 8542 5DE5 600 Mean: 6CXE-1 200 11.0 1
w75 4HS-2100 -710  5HS-2 100 120 1 v J8765 5HS-2 200 -390  5HS-2 200 50 1
* QJT743 Dif: -300 NS:12 4HS-2 100 120 1 ¢ 93 Dif: 400 NS:5 5SXS-2 500 -3.0 1
»T4 IMP: -7 EW:-14 6SW6 1430 -12.0 1 » T7 IMP: 9 EW:5 5HXS-2 500 -3.0 1
s AJ93 & KT752 6SE6 -1430 120 2 ||a J73 s K 5DE5 600 -5.0 1
v v AJ oT _I_ v A2 5DXE5 750 -8.0 1
¢ K9862 * A5 + Q876 * AJT52
& A975 » KJ86 & AJ932 » KQ854
*¢VABN 4,Q %o VABN 4 AQT96
N ~ ~ 2 ~ ~ ¢ KQT986432 N ~~ 33~ v KQ943
S ~~2~~ o S ~~33~ ¢K4
E 74~76 Q32 E 55~~1 &6
W 64~66 W 55 ~~1
# 21 » Q5 1NS-1 100 Mean: 1NN3 150 4.0 1 ||# 22 » KQ52 3NS5 -460 Mean: 3NS5 460 1.0 1
v AKJ4 1NN3 150 0 1NN2 120 3.0 1 v Q32 3NN5 -460 440  3NN5 460 1.0 1
¢ 542 Dif: 250 NS:4 1NN1 90 30 2 + AB2 Dif: 0 NS:1 3NN4 430 0.0 4
& T532 IMP: 6 EW:3 1NS-1 4100 -30 1 & KT7 IMP: 0 EW:-1
& T742 » K86 2NN-3 -300 -7.0 1 aJ & AT9843
v T3 v Q9876 v 96 — v KT7
¢ AKT3 ¢ 76 ¢+ QJ5 ¢ 743
& QJ4 » K76 » J986432 a5
VAN o,AJ3 oo VAN ,76
N 11~~~ 52 N ~44~4 ¢ AJB54
S 11~~1 ¢QJ98 S ~44~4 ¢ KT9%
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